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Paper : 6.3
( Contemporary Western Philosophy )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

(a) Belief in the primacy of is a

characteristic feature of existentialism.
( Fill in the blank )

9 oy e Sfegama 9B aE |
( =&t 313 779 ¥4 )
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(2)

23

(b) ‘‘Man is condemned to be free.”” Name
the philosopher who is associated with
this statement.

“Ar FEE T 17 G2 SREmE were
Give TfsRRE e s |

(c) Name the existentialist philosopher who is
associated with the concept ‘leap of faith’,

‘PR G YRIIGR Ot aive S
wfeEed A s |

(d) Which of the following sentences is true?

o (1ol A T ?

(i) Existentialism is an emphasis on
abstract thinking.

FCq |
(ii) Existentialism is related to logical
positivism.

SBEAM G AT (TS F(fF |

(iii) Existentialism does not emphasize
rationality.

SREFAITT Jfad SRS BF SR T |
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( Continued )

(3)

(e) Name the second stage of existential
transformation according to Kierkegaard.
Rrcdomts wo W wEd RIS Rl
TICHE A fer |

(f)  With which of the following word the
term ‘intentionality’ is associated?

TS (FRICH! X4 Fore TFIR| 0! TS ?
(i) Body
19
(ii) God
ECE
(iii) Consciousness
(@on|
(iv) Religion
uf
( Choose the correct answer )
( % Teach Aifg S )
(g) Who among the following is the author of
the book Being and Nothingness?
wHe AN T NG foede (FMsRIdl Being
and Nothingness 2%4 2[tT<l ?
(i) Kierkegaard
cheme
(ii) Neitzsche
e
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(&) (5)

(iii) Hegel (d) State any two obstacles that obstruct the
@ exercise of man’s freedom according to
Sartre.
iv) J. P. Sartre
(iv) B e Ieq FRTOR SRS A4 GO
. 1. vd ‘ A e 7o aifovss Teay 991 |
( Choose the correct answer )
(o Teach! Ak Sfrear ) 3. Answer/Write short notes on any three of the
following : 5%3=15
2. Answer the following in brief : 2x4=8 w=te fir R o b Tea / APy o ford
GG Taq v : ) s
were faeaTes o Ted firan (a) Write a note on Phenomenological
eduction.
(a) In what sense phenomenology regards B
philosophy as a ‘rigorous science’? oA Rrefaraca e afb Gl forsn o
gefeann & o % ‘FR [eEr ; ;
2\9\9 f , XTI -4 {% (b) Neitzsche’s concept of ‘will to power

Neema “wror s Tpar’T =

(b) What does Neitzsche’s nihilism mean?
(c) Explain existentialists’ view that ‘truth is

NI AT & 3@ 2 subjective’.
(c) Name two  atheistic  existentialist Tey D’ I Sfefes w1 SR a=Ewe
philosophers. R |
= f ol |
R e e i = (d) Sartre’s concept of freedom

wdq FETER 4R
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(e)

(6)

Explain the statement that existentialism is
a ‘movement of protest’.

S 9% ‘dfea S —sA|E
911

4. Answer any three of the following : 10x3=30
were A [ e fefibr Seq fir
(a) What is existentialism? Distinguish between

(b)

(c)

(d)

20A/770

Theistic and Atheistic existentialism. 2+8=10

wfggEam 92 SR s Faaam sfegana
qrEre 2120 e w4 |

Discuss after Kierkegaard the three stages
of human existence.

fecanés oo T wiEea foR 5 wa e
-4 |

Explain Nietzsche’s concept of Superman.

N ARSI 4I=9I1CHT 772 <647 |

“Existence precedes essence.”” Explain
and examine the statement.

‘“ofgy AT TS 17 SfEn W S
fapra <41 |

( Continued )
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(Z )

(e) Explain phenomenology as a trend of the
contemporary Western Philosophy.

TPTNES 2P 7 @ft Sered g Zore
Aolfedm F=AeE T F41 |

(f) Discuss general characteristics of

existentialism.

G SR (TP, SHICEbT 1 |
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